o(d @) (rad)
a(d cot(d))

=107

=
S
[
UL
—_———

1072

1073

1073

1054 105 | ||

1.05

Ratio

Ratio
N

iy

[T
N

|
=

2 -1 0 1 2 3 092 o 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

0.95

MKFIT_TTbase

—=— DOQM_]

—e— DOM_mkFit_TT_retrainOldFiles125_v2_prelimWP_5iter
—— DOM_mkFit_TT baseline_6iter

—— DOM_mKFit_TT_RetrainV2_WP2_6iter

SICEWACL
oloa) (cm)

1072

107 3

o
2
&

iy

LR
|
N

+
X
TTTI[TTIT[TTTY

-1 0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

owp./p,)

H
S
o

AL LB 3 DRI
-2 -1 0 1 2 3
TP n (PCA to beamline)




	Contents
	Page 1


